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   CLASS – 2 ( MATHEMATICS )  

        Chapter – 1 ( Number )  

     SET – B  

 
1.  Directions: Read the following passage and answer the following questions. Suraj is 
the captain of the Indian Cricket Team. He made 47 runs on first day of a test match and 
on the second day he made 128 runs more than the first day. The score made by Suraj on 
day 2 is 
 
 a) 128       b) 175  c) 47   d) 157 
 

 
2.   Directions: Read the following passage and answer the following questions. Suraj is 
the captain of the Indian Cricket Team. He made 47 runs on first day of a test match and 
on the second day he made 128 runs more than the first day. What is the total score made 
by Suraj on both the days? 
 
 a) 177      b) 222        c) 175  d) 227 
 

 
3.   Directions: Read the following passage and answer the following questions. Suraj is 
the captain of the Indian Cricket Team. He made 47 runs on first day of a test match and 
on the second day he made 128 runs more than the first day. Identify the number which is 
present on the ones place of the total scope made by Suraj on both the days. 
 
 a) 2  b) 5  c) 7  d) 5 
 

 
4.   What is the common digit at the place of ones in following series of number? 46, 846, 
246, 126, 826, 
 
 a) 6    b) 2    c) 8  d) 4 
 

 
5.  Nisha got 89 marks out of 100 in her maths exam. When she saw her answer sheet, she 
noticed that her teacher made a mistake in counting and gave her 1 extra mark. If you 
were in the same situation as Nisha was what would you do?   
  

a) Tell the teacher about the mistake. 

 

b) Sit quietly in the class. 

 

c) Make fun of your teacher among your friends. 

 

d) Both b and c  
 

6.   Romans used _________ letters of the alphabet as basics symbols. 

 

https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195
https://www.studyadda.com/question-bank/2nd-class/mathematics/numbers/number-sense/195


INTERNATIONAL TALENT SEARCH EXAMINATION 

2024 – 2025 PRACTICE PAPER 

 

a) 8  b) 9  c) 6  d) 737 

 

7.   Besides I , __________ can also be repeated three times. 

 

a) X  b) V  c) T  d) R 

 

 

8.   99 + ______ = 11 tens 

 

a) 9  b) 10  c) 11  d) 20 

 

 

9.  The sum of smallest 3-digit number and largest 2-digit number is ___________ 

 

a) 99   b) 199   c) 1000  d) 110 

 

 

10.   20 ones + 10 tens + 5 hundreds = __________ 

a) 820   b) 720   c) 620   d) 920 

 

 

11.   2012 + 10 + 0 = ______ 

 

a) 0  b) 2000  c) 2120  d) 2022 

 

 

12.   Sum of 3500 and 4500 is equal to _________ 

 

a) 9000  b) 7000  c) 6000  d)8000 

 

 

13.   A century + a dozen + a pair = _______ 

 

a) 114   b) 124   c) 144   d 154 

 

 

14.   Half of 100 + half of 300 = _________ 

 

a) 100   b) 400   c) 3   d) 200 

 

 

15.   Which of the following addition problems has a sum of 1807 ? 

 

a) 629 +829     b) 750 + 827   c) 809 + 998   d) 549 + 938 

 

  
16.  _____________ + 1 = smallest 4 digit number 

 

a) smallest 2 digit no.    b) largest 3 digit no.     

  

c) smallest 3 digit no.    d) largest 2 digit 

 

 



INTERNATIONAL TALENT SEARCH EXAMINATION 

2024 – 2025 PRACTICE PAPER 

 

17.   ______________ is 10 more than 8441. 

 

a) 8051  b) 8551  c) 8541  d) 8451 

 

 

18.   My one’s digit is 4. My hundreds digit is 5 more than my one’s digit. 

       My tens digit is 2 more than my one’s digit and my thousands digit is 4 more than my one’s 

digit. 

        Who am I ? 

 

a) 6984  b) 9684  c) 8964  d) 4694 

 

 

19.    A man worked in a factory from feb 1st to march 31st. How many days he   

worked ? ____________ 

 

a) 32   b) 59   c) 45   d) 64 

 

 

20.   Leap year + 3 weeks = _________ 

 

a) 354   b) 389   c) 377   d) 387 

 

 

21.   We are two different numbers. If you add us you get a sum of 25. Ifyou subtract us you get 

a difference of 5. Who are we ? ___________ 

 

a) 10 and 15   b) 20 and 5   c)5 and 10   d) 15 and 5 

 

 

22.   The sum of place values of 8 in 9888 is ______________ 

 

a) 818   b) 888   c) 80   d) 800 

 

 

23.   _______________ added to any number is equal to the number itself. 

 

a) 1   b) 0   c) number   d) 2 

 

 

24.   10 tens + 45 ones = __________ 

 

a) 140   b) 145    c) 150    d) 155 

 

 

 

25.   1256 + 4345 = 4345 + 1256 . Which is the property used here? 

 

a) group property    b) order property   c) zero property  

 

 d) none of these 

 


